

## A NOTE ON GENERALIZED ABSOLUTE SUMMABILITY

BY

H.N. ÖZGEN

**Abstract.** In this paper, a main theorem on  $|A|_k$  summability method has been proved. This theorem also includes two results.

**Mathematics Subject Classification 2010:** 40F05, 40D25.

**Key words:** absolute matrix summability, Summability factors

### 1. Introduction

Let  $\sum a_n$  be a given infinite series with the partial sums  $(s_n)$ , and let  $A = (a_{nv})$  be a normal matrix, i.e., a lower triangular matrix of non-zero diagonal entries. Then  $A$  defines the sequence-to-sequence transformation, mapping the sequence  $s = (s_n)$  to  $As = (A_n(s))$ , where

$$(1.1) \quad A_n(s) = \sum_{v=0}^n a_{nv} s_v, \quad n = 0, 1, \dots$$

The series  $\sum a_n$  is said to be summable  $|A|_k, k \geq 1$ , if (see [5])

$$(1.2) \quad \sum_{n=1}^{\infty} n^{k-1} |\overline{\Delta} A_n(s)|^k < \infty,$$

where  $\overline{\Delta} A_n(s) = A_n(s) - A_{n-1}(s)$ . When  $A$  is a Riesz matrix, the series  $\sum a_n$  is said to be summable  $|R, p_n|_k, k \geq 1$ , if (see [4]) (1.2) holds. By a Riesz matrix we mean one such that  $a_{nv} = \frac{p_v}{P_n}$  for  $0 \leq v \leq n$ , and  $a_{nv} = 0$  for  $v > n$ , where  $(p_n)$  is a sequence of positive real numbers and  $P_n = \sum_{v=0}^n p_v$  as  $n \rightarrow \infty$ , ( $P_{-i} = p_{-i} = 0, i \geq 1$ ). Also if we take  $a_{nv} = \frac{1}{n}$ , i.e. Cesàro matrix, the series  $\sum a_n$  is said to be summable  $|C, 1|_k, k \geq 1$  (see [1]).

Given any sequences  $(x_n), (y_n)$ , it is customary to write  $y_n = O(x_n)$ , if there exist  $\eta$  and  $N$ , for every  $n > N$ ,  $|\frac{y_n}{x_n}| \leq \eta$ . For any matrix entry  $a_{nv}$ ,  $\Delta_v a_{nv} = a_{nv} - a_{n,v+1}$ .

## 2. Known results

Given a normal matrix  $A = (a_{nv})$ , we may associate two lower semi-matrices  $\bar{A} = (\bar{a}_{nv})$  and  $\hat{A} = (\hat{a}_{nv})$  as follows:

$$(2.1) \quad \bar{a}_{nv} = \sum_{i=v}^n a_{ni}, \quad n, v = 0, 1, \dots,$$

$$(2.2) \quad \hat{a}_{00} = \bar{a}_{00} = a_{00}; \quad \hat{a}_{nv} = \bar{a}_{nv} - \bar{a}_{n-1,v}, \quad n = 1, 2, \dots$$

It may be noted that  $\bar{A}$  and  $\hat{A}$  are the well-known matrices of series-to-sequence and series-to-series transformations, respectively. Then, we have

$$(2.3) \quad A_n(s) = \sum_{v=0}^n a_{nv} s_v = \sum_{v=0}^n a_{nv} \sum_{i=0}^v a_i = \sum_{i=0}^n a_i \sum_{v=i}^n a_{nv} = \sum_{i=0}^n \bar{a}_{ni} a_i$$

$$\begin{aligned} \bar{\Delta} A_n(s) &= \sum_{i=0}^n \bar{a}_{ni} a_i - \sum_{i=0}^{n-1} \bar{a}_{n-1,i} a_i = \bar{a}_{nn} a_n + \sum_{i=0}^{n-1} (\bar{a}_{ni} - \bar{a}_{n-1,i}) a_i \\ (2.4) \quad &= \hat{a}_{nn} a_n + \sum_{i=0}^{n-1} \hat{a}_{ni} a_i = \sum_{i=0}^n \hat{a}_{ni} a_i. \end{aligned}$$

The aim of this paper is to prove the following main theorem. For this we need the following lemma.

**Lemma 2.1** ([2]). *Under the conditions*

$$(2.5) \quad |\Delta \lambda_n| \leq \beta_n,$$

$$(2.6) \quad \beta_n \rightarrow 0, \quad n \rightarrow \infty,$$

$$(2.7) \quad \sum_{n=1}^{\infty} n |\Delta \beta_n| X_n < \infty,$$

where  $(X_n)$  is a positive non-decreasing sequence, we have that

$$(2.8) \quad n \beta_n X_n = O(1), \quad n \rightarrow \infty,$$

$$(2.9) \quad \sum_{n=1}^{\infty} \beta_n X_n < \infty.$$

### 3. The main result

Before we state our main result, we show  $A = (a_{nv})$  is said to be of class  $\mathfrak{U}$  if the following hold;

$A$  is lower triangular

$$(3.1) \quad a_{nv} \geq 0, \quad n, v = 0, 1, \dots;$$

$$(3.2) \quad a_{n-1,v} \geq a_{nv} \text{ for } n \geq v + 1;$$

$$(3.3) \quad \bar{a}_{n0} = 1, \quad n = 0, 1, \dots$$

$A$  given by  $A_1(x) = x_1$  and  $A_n(x) = \frac{x_{n-1} + x_n}{2}$  for  $n > 1$  is an example of a matrix of class  $\mathfrak{U}$ .

**Theorem 3.1.** *Let  $A \in \mathfrak{U}$  satisfying*

$$(3.4) \quad na_{nn} = O(1),$$

$$(3.5) \quad \hat{a}_{n,v+1} = O(v|\Delta_v \hat{a}_{nv}|)$$

and let there be sequences  $(X_n)$ ,  $(\beta_n)$  and  $(\lambda_n)$  such that the conditions taken in the statement of Lemma 2.1 be satisfied. If

$$(3.6) \quad \sum_{n=1}^m a_{nn} |s_n|^k = O(X_m), \quad m \rightarrow \infty,$$

$$(3.7) \quad |\lambda_n| X_n = O(1), \quad n \rightarrow \infty,$$

then the series  $\sum a_n \lambda_n$  is summable  $|A|_k, k \geq 1$ .

**Proof.** Let  $(T_n)$  be the  $n$ -th term of the  $A$ -transform of the series  $\sum_{i=0}^n a_i \lambda_i$ . Then, by means of (2.3), we have  $T_n = \sum_{v=0}^n \bar{a}_{nv} a_v \lambda_v$ . Applying Abel's transformation we have that

$$\begin{aligned} \bar{\Delta} T_n &= \sum_{v=0}^n \hat{a}_{nv} a_v \lambda_v = \sum_{v=0}^{n-1} \Delta_v \hat{a}_{nv} \lambda_v s_v + \sum_{v=0}^{n-1} \hat{a}_{n,v+1} \Delta \lambda_v s_v + a_{nn} \lambda_n s_n \\ &= T_n(1) + T_n(2) + T_n(3), \text{ say.} \end{aligned}$$

To complete the proof of the Theorem, it is sufficient to show that

$$(3.8) \quad \sum_{n=1}^{\infty} n^{k-1} |T_n(r)|^k < \infty, \text{ for } r = 1, 2, 3.$$

Firstly, since

$$(3.9) \quad \begin{aligned} \Delta_v \widehat{a}_{nv} &= \widehat{a}_{nv} - \widehat{a}_{n,v+1} = \bar{a}_{nv} - \bar{a}_{n-1,v} - \bar{a}_{n,v+1} + \bar{a}_{n-1,v+1} \\ &= a_{nv} - a_{n-1,v} \leq 0. \end{aligned}$$

By using (3.2) and (3.3),  $\sum_{v=0}^{n-1} |\Delta_v \widehat{a}_{nv}| = \sum_{v=0}^{n-1} (a_{n-1,v} - a_{nv}) = a_{nn}$ . Using Hölder's inequality with indices  $k$  and  $k'$ , where  $k > 1$  and  $\frac{1}{k} + \frac{1}{k'} = 1$ , we have that

$$\begin{aligned} I_1 &= \sum_{n=1}^{m+1} n^{k-1} |T_n(1)|^k \leq \sum_{n=1}^{m+1} n^{k-1} \left( \sum_{v=0}^{n-1} |\Delta_v \widehat{a}_{nv}| |\lambda_v| |s_v| \right)^k \\ &= O(1) \sum_{n=1}^{m+1} n^{k-1} \left( \sum_{v=0}^{n-1} |\Delta_v \widehat{a}_{nv}| |\lambda_v|^k |s_v|^k \right) \times \left( \sum_{v=0}^{n-1} |\Delta_v \widehat{a}_{nv}| \right)^{k-1} \\ &= O(1) \sum_{n=1}^{m+1} (na_{nn})^{k-1} \sum_{v=0}^{n-1} |\Delta_v \widehat{a}_{nv}| |\lambda_v|^k |s_v|^k = O(1) \sum_{v=0}^m |\lambda_v|^k |s_v|^k \sum_{n=v+1}^{m+1} |\Delta_v \widehat{a}_{nv}|. \end{aligned}$$

By (3.1) and (3.9),

$$\sum_{n=v+1}^{m+1} |\Delta_v \widehat{a}_{nv}| = \sum_{n=v+1}^{m+1} (a_{n-1,v} - a_{nv}) = a_{vv} - a_{m+1,v} \leq a_{vv}.$$

Thus, we have

$$\begin{aligned} I_1 &= O(1) \sum_{v=0}^m |\lambda_v|^{k-1} |\lambda_v| |s_v|^k a_{vv} = O(1) \sum_{v=0}^m |\lambda_v| a_{vv} |s_v|^k \\ &= O(1) \sum_{v=0}^{m-1} \Delta |\lambda_v| \sum_{i=1}^v a_{ii} |s_i|^k + O(1) |\lambda_m| \sum_{v=1}^m a_{vv} |s_v|^k \\ &= O(1) \sum_{v=0}^{m-1} |\Delta \lambda_v| X_v + O(1) |\lambda_m| X_m \\ &= O(1) \sum_{v=0}^{m-1} \beta_v X_v + O(1) |\lambda_m| X_m = O(1), \quad m \rightarrow \infty \end{aligned}$$

by virtue of the hypotheses of Theorem 3.1 and Lemma 2.1.

Since  $n\beta_n = O(1/X_n) = O(1)$  by (2.8), we have that

$$\begin{aligned}
 I_2 &= \sum_{n=1}^{m+1} n^{k-1} |T_n(2)|^k \leq \sum_{n=1}^{m+1} n^{k-1} \left( \sum_{v=0}^{n-1} \widehat{a}_{n,v+1} |\Delta\lambda_v| |s_v| \right)^k \\
 &= O(1) \sum_{n=1}^{m+1} n^{k-1} \left( \sum_{v=1}^{n-1} v |\Delta_v \widehat{a}_{nv}| \beta_v |s_v| \right)^k \\
 &= O(1) \sum_{n=1}^{m+1} n^{k-1} \left( \sum_{v=1}^{n-1} (v\beta_v)^k |\Delta_v \widehat{a}_{nv}| |s_v|^k \right) \times \left( \sum_{v=1}^{n-1} |\Delta_v \widehat{a}_{nv}| \right)^{k-1} \\
 &= O(1) \sum_{v=1}^m (v\beta_v)^k |s_v|^k \sum_{n=v+1}^{m+1} |\Delta_v \widehat{a}_{nv}| \\
 &= O(1) \sum_{v=1}^m (v\beta_v)^{k-1} (v\beta_v) |s_v|^k a_{vv} = O(1) \sum_{v=1}^m v\beta_v |s_v|^k a_{vv}.
 \end{aligned}$$

Applying Abel's transformation, we get that

$$\begin{aligned}
 I_2 &= O(1) \sum_{v=1}^{m-1} \Delta(v\beta_v) \sum_{i=1}^v a_{ii} |s_i|^k + O(1) m\beta_m \sum_{v=1}^m a_{vv} |s_v|^k \\
 &= O(1) \sum_{v=1}^{m-1} v |\Delta\beta_v| X_v + O(1) \sum_{v=1}^{m-1} \beta_{v+1} X_{v+1} + O(1) m\beta_m X_m \\
 &= O(1), \quad m \rightarrow \infty
 \end{aligned}$$

by virtue of the hypotheses of Theorem 3.1 and Lemma 2.1. Finally, we have

$$\begin{aligned}
 I_3 &= \sum_{n=1}^m n^{k-1} |T_n(3)|^k = O(1) \sum_{n=1}^m n^{k-1} a_{nn}^k |\lambda_n|^k |s_n|^k \\
 &= O(1) \sum_{n=1}^m a_{nn} |\lambda_n| |s_n|^k = O(1), \quad m \rightarrow \infty
 \end{aligned}$$

as in the proof of  $I_1$ .

Thus, we obtain (3.8). This completes the proof of the Theorem.  $\square$

#### 4. Corollaries

Setting  $a_{nv} = \frac{p_v}{P_n}$  and  $a_{nv} = \frac{1}{n}$  in the Theorem 3.1, the following corollaries can be stated.

**Corollary 4.1.** *Let  $(X_n)$  be a positive non-decreasing sequence and let there be sequences  $(\beta_n)$  and  $(\lambda_n)$  such that the conditions (2.5)-(2.7) and (3.7) are satisfied. If*

$$(4.1) \quad np_n = O(P_n), \quad n \rightarrow \infty,$$

$$(4.2) \quad P_n = O(np_n), \quad n \rightarrow \infty,$$

$$(4.3) \quad \sum_{n=1}^m \frac{p_n}{P_n} |s_n|^k = O(X_m), \quad m \rightarrow \infty,$$

then the series  $\sum a_n \lambda_n$  is summable  $|R, p_n|_k, k \geq 1$ .

**Corollary 4.2** ([3]). *Let  $(X_n)$  be a positive non-decreasing sequence and let there be sequences  $(\beta_n)$  and  $(\lambda_n)$  such that the conditions (2.5)-(2.7) and (3.7) are satisfied. If*

$$(4.4) \quad \sum_{n=1}^m \frac{1}{n} |s_n|^k = O(X_m), \quad m \rightarrow \infty,$$

then the series  $\sum a_n \lambda_n$  is summable  $|C, 1|_k, k \geq 1$ .

#### REFERENCES

1. FLETT, T.M. – *On an extension of absolute summability and some theorems of Littlewood and Paley*, Proc. London Math. Soc., 7 (1957), 113–141.
2. MISHRA, K.N.; STRIVASTAVA, R.S.L. – *On  $|\bar{N}, p_n|$  summability factors of infinite series*, Indian J. Pure Appl. Math., 15 (1984), 651–656.
3. MISHRA, K.N.; SRIVASTAVA, R.S.L. – *On absolute Cesàro summability factors of infinite series*, Portugal. Math., 42 (1983/84), 53–61 (1985).
4. ORHAN, C. – *On equivalence of summability methods*, Math. Slovaca, 40 (1990), 171–176.
5. TANOVIĆ-MILLER, N. – *On strong summability*, Glas. Mat. Ser. III, 14 (1979), 87–97.

Received: 7.VI.2010

Revised: 24.I.2011

Faculty of Education,  
Department of Elementary Mathematics Education,  
University of Mersin,  
TURKEY  
nogduk@gmail.com